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|1. A disease involving the breakdown of air sacs of the lungs is:

© Asthma _Bronchitis © Pneumonia §OJ Emphysema
2. What type of blood vessels surrounds the alveoli?
@ vein o Arteriole © Artery oo
3. Which process does NOT occur in the nasal cavity?
(») Humidification of the inhaled air Exchange of gases
.© _Trapping of large dust particles © _Warming of the inhaledair

® _Phloem . Xylem © _Endodermis
5. Taking in oxygen and giving out of CO: is called?
: (») Respiration Gaseous exchange
(© Anaerobic respiration (© Aerobic Respiration
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1|6. Venule unit to form:

©
(») Alveoli Trachea ©) Pulmonr ry Pulmonary vein
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® Trachea alveoli  §@gpharynx © larynx o
18. Place of gaseous exchange in lungs is call¢
| . ©_esophagus alveoli, Ay Q@ laynx © Trachea . .
.......................................................................................................................................................................................................... © monkey .|
................................................................................................................................. © Bladder |
12. The cavity in which lungs are located is called:
® Abdominal cavity ®) Buccalcavity = © Oralcavity :
|13. The number of lobes in right lung is:
| ®@4 S ©2 SO i
[14. Number of Ribs in man are:
| ® 22Pairs 20Pairs ©) 12Pairs ® 10Pairs |
|15. The chest wall is made up of pairs ......... of ribs.
[ ®20 2 @16 oo ©8 i
1116. The muscles of ribs are called:
(A) costal muscles smooth muscles
OM intercostalmuscles © cardiacmuscles ;
17. Percentage of Oxygen in inhaled air during breathing is:
O S=========s===========s===s======================================================== Te
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119. Mesophyll cell are found in:

(») Fishes

20. It is a form of, Allergy in which there is inflammation of the bronchi occurs:

|21. Rate of breathing depends upon concentration of which gas in the blood:

(») Hydrogen Nitrogen (© Oxygen __9;1_;‘99_11 dioxide
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1130. After larynx, air enters into:

(») esophagus bronchi (© pharynx ©) trachea

|31. The acute bronchitis usually lasts about:

() four weeks three weeks ©®) two weeks (®) one week

132. The empty space present in nose is called:

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

133. Stoma are abundantly present:

(» In Xylem cells In Phloem cells
© onstem on upper epidermis of leaf
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I35. In non-smokers who are exposed to second hand smoke increase their heart diseases risk
| by :

® 30-45% 25-30% © 20-30% ® 15-20% |
T e |
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|137. The Larynx is also called this:

@) Voice Box Alveoli (©) Bronchioles (® Trachea
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138. In human larynx is made up of:

(®) hard bones alveoli (© bronchi cartilage

E . .......................................................
|45. Bronchitis may be caused by: @%S

(») ascaris plasmodi

49, In aerobic respiration ......... is used. C’@ pakcity.org%o
I (») Hydrogen Oxygen (©) Carbon (® Nitrogen
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I52. :
Is3. ;
154, Asthma is actually:
| ® Alergy O] Hepatitis © Cancer ® Tuberculosis :
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|58. How many bronchi are there in the air passageway?

1159. Where does the gaseous exchange occur in humans?

1160. Which structure actively helps in taking the air out of lungs?
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[57. Most of the gaseous exchange in a leaf occurs through:

@) Stomata Cuticle (©) Lenticels
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(») Bronchiole Bronchus (© Nasal cavity

..............................................................................................................................................................................................................

|61. The primary chemical stimulus for breathing is the concentration of:

(») Carbon dioxide in muscles Carbon dioxide in blood ¢ : "
:,% pakcity.org %n
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1162. Which disease is caused by streptococcus pneumonia? Q@

(») Emphysema Pneumonia

|66. The rate of breathing during exercise or death hard physical work is:

O) 30-40 times 40-50 times (©) 20-30 times (® 10-20 times

(A) Urea & salts
© Salts, water and carbon dioxide
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178. Sea Grasses are:
| ® Xerophytes  ® Succulent @] Halophytes  ® Hydrophytes
179. The core temperature of human body remains at about:
@ac ¢ . @3 |
1180. Human Urinary system consists of:
(® Ureter Urinary bladder [©F
. The maintenance of water, salts, glucose and tempera U.l@l the body is called as:
OJ_Homeostasis ~ ©2&; ﬁﬂon ............................ © Filtration
_________________ © Neuron ~ .Qmerve
............................................... © 10lac @ Slac oo
|84. Ribs which protect the kidneys are:
| ® lastfour ® middle RO Jasttwo .. © firsttwo
85. What are not filtered through glomerular capillaries?
(») Fate & Proteins Fats & Salts (© Salts Proteins (@) Blood Cells & Proteins
OJ Hypertension  © Hepatitis
............................................................ © _kidney transplant © Biopsy
\O)| Abu-Al-Qasim @ Jabir-bin-Hayan (© Aristotle = © AlFarabi
1189. During lithotripsy stone is removed by:
: (n) electrical shock waves non electrical shock waves
© medicines i D SUTGETY i,
1190. Latex is released by which plant:
| ©® Mustard O]
91. The maintenance of internal human body temperature is called
® Guttation  ~ ® Respiration [
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1192. The example of halophytes plants is:
! (A) cactus (8) rose (©) water lily
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1193. Resins as waste material is excreted from:
(A) Rubber Keekar @®)| Conifers (®) Tomato

|94. Plants store a large amount of water in their cells for:

(A) guttation

R R R RN e

turgidity (© photosynthesis (@ transpiration

L e e R

1]95. The average life for donated kidney is:
@O} 10to 15 years 15to 20 years  (©) 5to 10years (® 1to5 years

198. The example of xerophytes is:
) (») Seagrass Water lilly (© Funaria
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1[99. These plants have very deep roots:

(») mesophytes hydrophytes
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mb of loop of Henle?

© glucose (©) salts

() Latex (®) Resins

------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

103. U Shape Renal Tubules is called:

(») Cortex Neuron (® Pyramids
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|104. The weight of human kidney is approximately:
| ® 28gm. 25gm. © 26gm. O] 120gm.

away from vertebral column
© lower

|110. ........is the name of outer region of longitudinal section of human kidney.
B e m === === e e == e == e === e == === [T
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(») renal pelvis

(») Mesophytes

(A) Renal tubule

() Oxygen Gas

(») Xerophytes

renal pyramids (© renal medulla

1111. The appearance of drops of water on tips of leaves is called:

(® _Osmoregulation Osmosis ....QHPF.?}F.@.?H ........................... @ Diffusion
............................................................ © Keekar (@ Rubberplant
113. What is the function of the ureter?
(A) To remove waste from the blood To store urine

(©) Evaporation

----------------------------------------------------------------------------------------------------------

1119. Itis formed due to condensation of wate rs on the plant surface:

Transpiration (®) Guttation

122. Cacti are example of:

Halophytes ?@“' Xerophytes (® Hydrophytes
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123. The tube between kidney and urinary bladder is the:

(© Nephron (© Urethra

[127. The By- product of photosynthesis is:

Glucose (©) Carbon dioxide
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[128. Which plants have deeper roots?

Mesophytes (® Hydrophytes

B NN RN NN S NI RN NI NN I AN A NN RN RN N AR R RN I AN I NS IS ARSI IR S U R B Bambw NN RSN N NSRRI I I N TN E R RSN RS N NS RN I RN NN NI NI E NN A AN RSN E R R

O e e ) e e e s ] S s [y Sy i [y oy o [ )y ) e e ([ [ [ ) e ) e [ ey ) e ) e e e e s s [y s e e e ey o ey e [ [ oy ([ e e s e [ e G |

Page 7 of 41

Please visit for more data at: www.pakcity.org

[T T T T T T T T 1T 171 K@

[N S S (ST S S [ ) | [ (W) SO S S S S ) S (SO O ) S S ) o |

[ T T T T T 1

[

[N VS T S ST S S S [ o ] S W [ | ] L) S | S () S S [ ] [ |

o T [T T T o e T T T i e T FT (e [ [T [ ]

IS S [T (1 (Sl [ (|

[

RS S () S 1 (ST W) S ) ) (S S ) IS T [

(@]



Nl www.pakcity.org - Class 10t :Biology Full Book MCQs s

IIIIIIIIIIII

(») Bladder, urethra, ureters
(© Bladder, ureters, urethra

1133. The maintenance of the internal conditions of the body at equilibrium, despite changes in
H the external environment is called:

(A) Metabolism
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Homeostasis (© Osmoregulation (@) Thermoregulation
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1136. What is the function of the ureter?
] @ To carry urine out of the body

137. Colour of human kidney is:

! Dark Red blue
|1138. Halophytes live in:
: () canal

|141. Eyes of dogs and cats shine due to the layer:
(») Pleural Tapecum
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1146. On receiving the message from coordinators, the, effectors perform action is called:

(») Effectors Receptors (© Coordinators Response
|y mel
O e ) e e e e e i e e ) i e i ey ) i e e i B e e e e e s e e e i ) e e e e i ~ (@)

Page 8 of 41 Please visit for more data at: www.pakcity.org



e www.pakcity.org - Class 10t :Biology Full Book MCQs s

147. Two glands are situated above the kidneys:
(O} Adrenal Thyroid (© Pancreas (® Parathyroid
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148. He wrote three books on diseases and surgery of eye:
(® Abdul Malik Asmai @) Aliibn Isa © Ibnal-Haytham (@ BuAliSena
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-1149. Which hormone develops the male secondary sex characters?

@ Insulin ® Progesterone, ~ {OF Testosterone (@ Estrogen
1150. Temporal lobe is concerned with:
] (») Visual information Hearing and smell

(© Fear (® Control of skeletal muscle

151. Owl is not able to see during day time due to deficiency of:
(A Retina Rods Cells © Fovea

@) Cone cell

(©) parathormone  (®) vasopressin

1155. A hormone testosterone is secreted by:

(») thyroid gland pancreas

11158. Which one is not included in the symptoms of diabetes mellitus?
(») loss of weight weakening of muscles
© tiredness

|159. Which hormone increases the rate of reabsorption of water form nephron?

(») insulin thyroxin

vasopressin (® oxytocin

[161. Which hormones are secreted by ovaries?

estrogen glucagon @ testosterone @ insulin
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(c) Sclera

1168. A thick Muscular structure beneath the Lungs is called:

ethanol © acrylic acid

(») glycerol

[173. The outer region of spinal cord is made up of: O@
white matter gray matter O %

®33 w3 924 a2 i,
1171, All of these are hormones except:

® Thyroxin _Glucagon [©) Pepsinogen ~ ® insulin
1172. Any changes in environment:

® Effect _Coordination  © Response@ _______ 0] stmulus

(®) Choroid
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é§ erve impulse away from cell body is:

....................................................................................... e of Ranvier JGJ Myelin Sheathe :
....................................................................... _Schwanncells  © Dendrites :
1177. Processes that carry nerve impulses away from the cell body are called:
AXONS Myelinsheath  (©) Dendrites © Synmapses . :
|178. The portion of the nervous system that is involuntary in action:
. (») Motor, nervous system Sensory nervous system :
©_Somaticnervoussystem fO] Autonomicnervoussystem ... :
1179. Which neurons are present inside the central nervous system?
(») Sensory and motor neurons both Motor neurons only I

. Interneuronsonly .~~~ @ _Sensoryneuronsonly

1|180. The part of the brain responsible muscle movement, interpretation of the senses and the [i
memory is the: i

® Cerebellum O] Cerebrum © Medulla oblongata ® Pons 5
1181. Apart from hearing, what other major body function is performed by the ear?
() Reduction in nerve pressure All of these

I \©) Bodybalance @ _Hormone secretion .
1182. This is NOT a part of the hindbrain:
® Cerebellum Medulla oblongata{@) Cerebrum © PONS o, :
e [
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|1186. Which one controls rage, pain, pleasure and sorrow?

1187. No. of pairs of cranial nerves in human are:

|191. Central nervous system consists of:
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11185. Central nervous system. include brain and:

() heart noto cord (¢) vertebra

(A) midbrain medulla
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hypothalamus

® 16 ® 14 © 10

(A) hormones Spinal cord
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1183. If you look at an intact human brain, what you see the most is a large, highly convoluted |H
outer surface. This is the: i

@ Cerebellum Pons (9 Medulla oblongata{®) Cerebrum !
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11198. Who described 130 diseases of eye?
| .® AlibinMussa ® JabbirbinHyyan [O) Aliibnlsa  ® Newton . |
199. The part of skullbone in which eyes are found is called:
| ® Byetds Sockets .. © Orbits ... IO] orbits & Sockets |
200. Which part of middle ear separates It from inner ear:
Jovalwindow ~~ ® malleus © incus o ©) Stapes .. ;

201. In auditory canal's wall glands produce:
O S=====================s===s======================================================== Te
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............................................................ © Nerveimpulse ~® Auditory Fluid ||

11202. The Cochlea is-present in:
(A) Middle Ear External Ear i

1205. If a new born baby feeds on mother’s milk as a result of which production of mothers milk

will:
©stop ok
206. When the human body has low amount of water then Pituitary gland secrets:
| @ TSH ... ® Oxytocin  JO) Vasopressin  © In
1207. Increases rate of reabsorption of water from nephrons: o%pakcity.org %‘7
| .© Glucagon _parathormone  (© Oxytocin [O] vasopressin

1209. Disease caused by deficiency of iodine in food is ca%b@

(» dwarfism goiter @E
ATy c' human neck is:

AN R AR NN N SRR NN RN R NI RN AR I RN ARSI AR R R R

parathormone Calcitonin © Adrenali%g/_ (© Oxytocin

thyroidism (@ diabetes mellitus

11212. Which hormone is secretéd in case of emergency situation:
Oxytocin (©) Calcitonin (® Thyroxin

® 10g 1g © 0.5g ® 0.1g

|214. This hormones is necessary for the ejection of milk from breast:
(A) Calcitonin Thyroxin ®) Oxytocin (o) Parathormone
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216. Male gonads are known as: 0
NON Testes . Eggeells . © Ovaries . © Spores .. |

217. Which hormone causes contraction of uterus at the time of birth:
| © cacionin O] oxytocin © Thyroxin . ©) Vasopressin |
[218. Pinna (external ear) is made up of:
| ©Fbers Bone . O) Cartilage © Muscles .. 5
11219. Which type of gland produces thyroxin Hormone:
| .® Pancreases Parathyroid  © Adrenal JOJ Thyroid :
O S=====================s===s======================================================== Te
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1220. Is responsible for chemical coordination:
®) Reproductive System
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11221. Receives and analyzes visual information:
{0} Occipital Lobe Parietal Lobe

(») Calcitonin Insulin

1223. Iodopsin is present in:
() Cornea Choroid

® VitaminD  ® VitaminC

1228. Itis the part of inner ear:

(®) Vestibule Internal ear

. Nervous System

(© Temporal Lobe

LR L e R R LR L L R L L L R e e L)

1222. Decreases the concentration of Glucose in Blood:

© Glucagon

L R Ry L L L L e L L L
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[233. The tympanum belongs to which part of ear?

@®)| External ear

(® Frontal Lobe

(®) Testosterone
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(® Rods

I

! insulator
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(®) vitamin B
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(0) Middle ear
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11238. The hormone that increases the blood glucose concentration:
(») Calcitonin Parathormone  (©) Insulin i
eeeeee—————————_—_— — — — m— e— e — — , , — — — — — e
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1241. In nervous coordination of human nervous system response is an action of .......... after

receiving message.
() Receptors Coordinators Effectors (© Stimuli

1244. At the point where a spinal nerve arises from the spinal cord, there are........ roots of spinal

nerves.

1245. Schwann cells secrete a fatty layer, called:

® Impulses Nucleus .
|246. Thyroid gland produces ........ hormone. @ |
] (») Glucagon Estrogen

---------------------------------------------------------------------------------------------------------------------------------------------------

R R R R R R R PR R E R P Y

is found in plants? C‘@ pakcity.org %"

chemical coordination nervous coordination
(© electrical coordination (® mechanical coordination
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[255. Which neurons are present inside the central nervous system?
(® motor neurons only sensory and motor neurons both

o) JInterneuronsonly @ _Sensory neuronsonly .
1256. How many types of nerves are classified on the basis of property of axons? i
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Cerebellum (©) Thalamus (® Hypothalamus

259. The largest part of brain is:
] (») thalamus cerebral hemisphere cerebrum (® hypothalamus
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11260. Which is related to hearing and smelling:

® Frontal . Parietal © Occipital |
261. What is the function medulla oblongata of brain:
Heartbeat _thinking © Pain ....0© intelligence
1262. The largest part of Human Brain is:
i (A) Medulla (@) Forebrain (©) Midbrain

R R R R RN R R R L L R R R Ry

263. The parts of forebrain are: |
(») Thalamus hypothalamus and, cerebellum Thalamus hypothalamus and cerebrum
(© Medulla, cerebellum and pons © Thalam&@ulla and pons

L L L R R L L L L L L L L L L E L R L L L R L R R LR R R LR LT

--------------------------------------------------------------------------------------------------------------------------------------

L L T L TR T R T N T R R RN L s

@ Elastic

T T TRy S .

1268. Gout is due to accumulation of:
® _ Lactic acid Formic acid

---------------------------------------------------------------------------------------------------------------------------------------------

1269. Outer hard layer of bone is called:

L T e e e T T T T T

(©) Osteocytes

B N RN NN R NN NS AN N RN NI NN AR I NN R RN N IR R S RSN I AN NI T AN RSN U NN R AN A T S NI RN NSRBI N IS NN NS E N U BN AN AR R ISR SN AN TSN RIS R U NI RTINS R PN A RN

On el e e ) e 1 e o e o e e e e iy i [ e ) i e e s ey e o s o e e e e e e e i
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® Osteocyte O] CompactBone () Cartilage © SpongyBone
1270. Which bone is part of Appendicular Skelton?
- Pectoral shoulder girdle sternum

(© vertebral column (® Skull

(@)

|
I T T T T T T T T T T T M
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L L TR L L T P T T P T T T T

(A) Cardiac

(») Fibrous

|1276. The purpose of rib cage is to:

Protect the heart and lungs
(© Protect the spinal cord

|284. The cartilage found in intervertebr

@ Elastic .
285. Number of bones in both
(A 22

11280. Generally gout attacks the joints?
| ® Hingejoints Ankle joints

11281. ............ animals have exoskeleton.

............................... ;l

Matri

11286. Cartilage and bone are types of .........

Smooth

(©) Pectoral girdle

Provide an object to which the lungs can attach

R e R R R R T R R R Ty P R R A R R R R T e Ry Ry R R R R R R N T R R P PR R R PR RN TR R T T T R

-------------------

© 126

tissues of animals.

-

> _
ﬁ@;‘q Connective

!

|1287. Which cartilage is found in epiglottis and pinna:

(© Collagen

L R R R R TR R AT T T N

(® Pelvic girdle

[N (ST SN S U S S (V) NS [ S S () S [ SO S O S S S O (SO S o o

[

[N (T ] N W L N O S (W N WO [ W O N WO O (O O O ) [ Y [ |

[ e T

[ e T e Ty T (e [ e T [ T e e [T T e e [ I T [ [T (]

[

[T T

T [ ] (1

[

I

11293. The part of bone in which blood vessels are found:
B £
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(© Compactbone  (® None of these

(R R R R R R R R R R R R R R R R R R R R R R R R R R RN R Y s e R T R R R N R R R R R R R R T TR R R R R R R R R R R R R R R R R R R R R PR N R R R )

1297. Tendons and ligaments are bands of:

(») muscular tissue nerve tissue (© epidermal tissue @) connective tissue

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

1298. Mature bone cells are called:

(») fibrous cartilage cartilage Osteocytes (© compact bone

302. Human arm have bones: %{g
| ®22 B e @14 .o
303. The movement of. an animal as a whgl m one place to another is called:
@ Slightly moveable ®- Hingejoints HOF Immoveable © Moveable
1305. End of muscles attached with moveable bone is called:
| ® Extensor O] Insertion © Flexor © orign
__________________________________________________________ ® Chest ..© Neck Okl
307. The disorders in which there is an accumulation of uric acid in joints:
gout ©_Oste0-arthritis (®) Rheumatoid arthritis
308. All of these are the parts of axial skeleton of human except: o%pakmty orggo
B RbS Vertebral column [[G] Shouldergirdle ® Sternum
1309. The end of skeletal muscle attached with immoveable bone is:
| ®Bely Staticend © Insertion  [O) orign
[310. The matrix of cartilage also contains fibers:
| ®tacuna _Glucagon © Insulin
............................................................ ©_Chondrocytes ~ © Compactbone
312. Cartilage is a type of tissue:
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@) connective smooth (© cardiac (®) muscle

1316. Hip joint is an example of ......... joint.
(») Slightly moveable (8) hinge (© immoveable moveable

|1322. Find the ball-and-socket joint: O@
I Joint at pelvic girdle and Joint at elbow
(® Joint of neck and skull bones

R N R NN RS SN SRR NSRS - L e T T T T T

Marrow, spongy bone; wax
(®© Marrow, compact bone, wax

|324. Ball-and-socket joints allow movement in:
(®) Two direction @) All directions (¢) One direction (® No direction

L T T P P T PR R TR, " L L L L T T T R

) S S (ST S ) SO S ) | [ (V) SO S S S S () S (S [ ) IS S O S S (S O

[T ) N | R S O S N O U | O W ([ U S S S ) o |

ST S S| S [ S S T [l | S S o S S S [ Sl | [ [ L S (1 ) e [ [ s

I

325. Which point of attachment on bone is pulled when a muscle contracts?
.......................................................... origin ...© extension ~~ © flexion I

326. They prevent dislocation of bones at joints:
.......................................................... Cartilage  © Collagen ~ © Tendons  f

327. Growing an entire new plant from part of the original plant is called:
‘® Regeneration ® Fragmentation (© Budding [O) Vegetative propagation :
1328. Rhizopus reproduces asexually by:
1 () Binary fission
O Budding !
11329. A corm develops into new garlic plant. This is the process of:
(») Regeneration Meiosis

© Gametogenesis JO) Vegetative propagation :

(.).-. |||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||||| .-6
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1330. Pollination is the transfer of pollens from:

(») Petal to sepal Sepal to petal

11333. Inside testes, the sperms are produced in:

(») Collecting data Vas deferens
(© Sperm duct

--------------------------------------------------------------------------------------------------------------------------------------------

11334. Which of these cells has haploid number of chromosomes?
_ () Spermatogonium All of these
(© Primary spermatocyte ©J) Secondary spermatocyte

(A) Bulb Suckers (¢) Stem Tubers

1343.

1344. Some cells of ovary prepare structures called:
(A) Seminiferous tubules Vas deferens
(© Seminal vesicles &) Follicles

11340. An example of diploid celkis:
| @ Endosperm nucles ® spermcell  fB) zygote ® EggCell . ..
341. Bryophyllum (Pather Chut) is a example of:

'o IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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1348. The units of Gynoecium are called:
(») Petals Stamens

(®) Sepals

N T T

349. These reproduce by Budding:
| @ Rhizopus Tulips © Planaria

T e T T T P e T R

1350. Queen honey bee is:
: Diploid Triploid (© Polyploidy ® Haploid

1353. The secretion of prostate gland of rabbit:
(») Facilitate Urine Excretion

354. Fusion of egg and sperm is called:
(A) Plumule Pollination (c) Radicle Fertilization

N N e n e T R

1355. ....... part of the female reproductive system receives egg ce s{rom the ovary.
) (©) Uterus

L L L L L R R R R R LR R R LR LR B sssamsnssEsassnsansnpan L L L R R e R

|356. After fertilization Zygote is carried to:
i (») Fallopian tube Cervix | Uterus

LR LR e L T T R T Y “ew e ' M T T T T T T OO T Ty

|357. Sperm and Fluid containing material is, ¢z

(») Spermatogonia @
&

(© Secondary Spermatocytes

Prlmary Spermatocytesc’% pakcity.org %"

L e e e e, TRy E

---------------------------------------------------------------------------------------------

|358. In rabbit, sperms are formed
'O} Seminiferous tu Urethra © Scrotum (® Seminal vesicles

R N e R R T T N

359. Which animal is not able to reproduce during the months of summer?
™ dog D) rabbit © cat (® monkey

L R R R R R RN RNy e e R R N N L R N R R L A R R R R R R L]

360. According to UNAID 0.1% of adult population of Pakistan has disease:

(») T:B polio 18] aids (® hepatitis
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1|1370. Parthenogenesis is a type of reproduction:

1374. Ginger reproduce by:

375. Garlic reproduce by:

385. Semen of Rabbit consists of sperms:

A www.pakcity.org - Class 10t :Biology Full Book MCQs .

O] Budding

Regeneration  (©) Fragmentation

L R R R R R R R R L R R R R R R PR R RN e e ey R R R R R R N R R R R R R R R R R R R R R R R R R R R TR L N

() Sexual

(») fragmentation Grafting

(A) Corns Stem Tubers

D R Y ST

Stem tubers Rhizome (® Bulbs

| | OO i i amoe A BT B ........................... Oq}) b.y .........................................................................................................................................

(¢) Rhizome (®) Leaves

FEEEEREES L R R R R N N L e RN S R e

e propagation occurs by leave is called:

(C) \ Bryophylum (® Ginger

L R R L]

L L L R R O T L L L T L N T L R R R T Y]

1379. Sperms and fluid collectively called:

(c) Hormones (®) Follicle

L L L L L e s T e L L T L T T T T T T T T T T T T T T

(©) Tubers (®) None of these

T T T T T T T T T T

|381. From this part of the embryo, shoot is formed:

Radicle (® Cotyledons

S EE BN E RSN I EE NN EEA NSNS RN EE IS EEN NSNS I NI ENEE NSNS EEE NI NSNS EEE NI EEN NN NG NI IS NN EE NI EEEA NSNS NN E AN RS EE N NN EEN NN NN NI ENS NN NI EEN AN NN IS N EE NN EEANS NS EEEEREE

' Anther (© Style

L L R T T T T

L L L L R L L L R o e sk e T T T T )

Carpel (©) Style

TR R R RN R R R R R R R R R R R R R A R R R A R R RN RSN R AR SRR AR R R
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1386. Corel reproduce by means of:

(») Binary Fission Fragmentation Budding (® Sexual Reproduction

1387. Part of Embryo in the Seed gives rise to plant shoot:
(») Testa Radicle (© Cotyledon

| Plumule

388. Double Fertilization result into:
(») Diploid Endosperm Nucleus Ovule

1397. Fusion of one Sperm with egg to form zygote and other sperm Nucleus with fusion nucleus
! to form 3N Endosperm Nucleus is called:
Double Fertilization Collecting Duct

Fertilization © Triple Fertilization

T T R T P

11399. Essential process for continuation of species is:

(») Locomotion respiration © Cloning

L R L R R N R R R R R S

1401. Ovule develop into:

() Endosperm (© Pollen Sacs (® Fruit

1403. 1s Diploid (2N): E
-— <
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(») Sperm cell Eridosperm i i
11404. Pollen tube carries: i
() megaspores microspores I

1405. The female reproductive part 'of flower is:

(») stamens petals

(») fission budding

1411.

412. Optimum temperature for seed growth is:
(&) 15-25°C 30-35°C

1418. From epididymis, sperms move to a sperm d

(A) Seminal vesicles (8) Seminiferous tubul

(©) corolla

il TR R R R R N TR L R R R R R R R R R N R R R R R R R R R R R R R R R R R R N R R TR L N

() Into nectar

|409. The transfer of pollen grain from anther to stigma is called:

(c) fertilization

luct is called:

es ©) Semen

AN BN EE NN EEN NS NI NN EEN NI NS BN NN N EEN NN NS N SN NI E NSNS EEE NI EE NN NN NI SN EE NI NN NN AN NN NN NN NN NN NN NN EEN NS NN N NN EE NN EEN NN NN EEEE SN NEENIEEENE W

1419. Some invertebrates also reproduce through
(») Pollination

binary fission:

Budding

e R R e L O i e, T T

(I ) S W L O S O S [ [ S [ S S S (V) SO [ S S (A S (SO [ S S S ) S [ [ S o |

[ T T T T T 1

[

ST Y S S [ ST S | T [ | S S S T [t ) [l | S S S o T S S S [ S L S [ S S 15 ) e | ] |

(S S () S [ [ |

) I [

[

[T 1

|

420. Itis the process used to propagate sugar cane plantation [
............................................................................................................................... © layering ~~~ © grafting |
............................................................ © Onion O Ginger |

O e e e e e e e e e e e e
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. About ....... % of the total adult Pakistanis are infected by HIV.

431.
432,
433.
434,
435.

436,

1437.

?.-. IIIIIIIIIIIIIIIII s i e i Ve e s e (e et e ey (e e s e e Ve e e e s e s e e .-.CI)

|422. The amount of sperms in semen is:

| @©%% o...O B0 NI AOLO oo © 50%
423. The example of Rhizome is:

(A) Potato Garlic (©) Onion

) ISR [N [ SN S S S S () S S S S ) | (W S [ S S S () S (SO [ ) IS (| o |

[ T T T T T 1

I

10 © 1.0 ©® 2.0

e L L T

Cyst is formed in?
(A) Planaria

T e T T T R R T T R T P T T T )

In sweet potato, method'of artificial vegetative propagation is:

[N SO ST S S S J S S [ o k] S W [ | L S () S W S [ ) [ W | L S [ ) S [ S ) [

®_ Tissueculture © Suckers .. © Graftng . _
Whose part is style?
© Petal . NGA Carpel . © Sepal . © Stamen . f
Development of new offspring from unfertilized egg is called:
® Fragmentation ® Binaryfission (©) Budding @) Parthenogenesis_|:
The latest method of using vegetative tissue or cell of single parent to produce identical []
offspring is: i
..... Cloning  ® Pollination  © Grafting ® Cuttings . :
An example of sexually transmitting disease is:

) S S ) S W 1S S 7 S [ [

[ T T T T 1

(@ W 1 1 1

Om

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Page 24 of 41 Please visit for more data at: www.pakcity.org



A www.pakcity.org ol

Class 10th :Biology Full Book MCQs . 's

R R RNy R R R R R R R R R R R R R R R R R R R e R R Y]

|1443. Double fertilization is the feature of:
(®») Gymno Sperms Ferns

1444. Fragmentation occurs in:

[O) Planaria Bacteria

445, These are the units of inheritance:

() phenotype Alleles

P e T R R R T PR T R Y

i 44.6. Inherited characters are called:
(A) fertilization Genetics

11449. Alternative form of a gene are called:
(A Gamete Chromosome

NS E NN B AN SN EE NN NN IR E A NS N EENE NN RN NI I N RN EN AN E N IR ISR I BN EEN RN NN EEEN NS NN EEAN T I RN NN EN NN NN ENENEENENEEEENE

1450. Locations of genes on chromosomes are €3

(») Genotypes Phenoty @ ®) Loci © Allele

(© Thymine (® Hydrogen

1|455. In the structure of DNA adenine of one nucleotide pairs with which of the nitrogenous
- base of opposite nucleotide:

(») cytosine Uracil (©) guanine

e L LT R R RRT, o

|456. Formation of messenger RNA from DNA is called:
_ (A) Transduction Translocation () Translation

® 28 23 © 46 ® 56
1459. Model of DNA structure was presented by:

R M R R R R R R R N R RN NSNS NSNS SR

'o IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
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464. James Watson and Francis Crick proposed the structure of DNA in:

11468. Union of sperm and ovum is called:

A www.pakcity.org - Class 10t :Biology Full Book MCQs s

|461. DNA is surrounded by a protein and from a structure called:

(A) Nucleoside Nucleus

1|1462. Chromatin material is made up of:

() RNA and Protein DNA (©) Protein

N EE AN EE NN EEA A I AN NI EEN NSNS AN EEE NN I NN O NN I I NN EEN NSNS NN EN AN EEN NN NS EEE NS A I BN E A I NS I NN EEEN SN NN AN E NN NI N EE AN EENNS NS EEEEEEE

(A) 1954A.D 1952 A.D ©) 1953 A.D

R R R R R R R R N R R R L R R R N R R R R R e e

NN NN NN NN AN SR RIS EA NN I EE NN RN R T e T R e e

() Allele

1472. 1f two plants having genotype (Rr) are crossed with each other what percentage of newly

produced plants will have genotype (rr):

®) 50 % 25 % ©) 75 % ® 100 %

Om
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[o) watson & Crick ® Mendel © watson ® Crick 5
460, Albinism is a trait:
(A) heterozygous g
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479. Human blood group AB is an example of:

1481. What will be the colour of flowers produced as a result of cross between red and with
white flowered 4'0 clock plants:

(® Red Pink (© Purple (® White

482. Three alleles, 14, 1B and i control blood group what is the blood group of a person having
two alleles 1i?

(») Blood group B Blood group AB Blood group0  (® Blood group A

Blood group AB (® Blood groupO  (© Blood groupA  (® Blood groupB

L e T e N TRy

11485. The Punnett square is also called:
(») mendel board genetic board

L T N e Ry e

(A) Mitosis

L T T R R R N R P R R R T R e

1488. The types ofinheritablls riations are:
(8 5 © 4 © 3

R R L R R R R R R R R R R R R R R R R N R e R R LR PR R R R R R R R R R R R R R RN R PR R R R R R R

|492. Theory of natural selection was presented by:
(A) Lamarck Darwin (c) Mendel (®) Buffon

|494. Bred plants are called:
i (A) Carnivores Cultivars (c) Herbivores (®) Breeds

[495. An important example of incomplete dominances is:
(») Shape of pea seed Color of four O clock flower

(O S S S S S S S S S S S S S B S S S T S S S S S S S S S S ) B
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() Recessiveness Co-dominance  (© Incomplete (® Complete dominance

® 1840 L1839 W WA M © 1850
490, Variations are source of:

® Population _Artificial Selection {OF Evolution ® Pollution
11491. The anti-evolution idea is called:

(A) Darwinism breeding theory

© special evolution theory [O] theory of special creation
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i | VRN GRS ey B ol M S9OSR h S Nhe DR DR e | e
| .© Sizeofpeaplant .~~~ © Colorofpeaplant flower :
1496. The Allele which is not expressed is called:
| .® Homozygous _Dominant O) Recessive © Heterozygous :
1497. Which relationship is found in Alleles of Blood Group 14 and IB:

(A) Recessive (8) complete Dominance

O} Co-Dominance ® incomplete Dominance

1|504. The part of DNA that contains the instructi r@) the synthe51s of a particular protein is
I known as: 5 g

(A) Chromosome Gene Q (c) Alleles (®) Traits

|506. Transmission of characteristic from parents to offspring is:
(A) chromosome trait (©) genetics ©®) inheritance

I510. Variations are caused by:
@ Same combinations of chromosomes in gametes (®) Asexual Reproduction

|512. In transcription, the specific sequence of DNA nucleotides is copied in the form of .........
nucleotides. i
QA mRNA _RNA-polymerase () tRNA © uBRNA :
O e —————————————————————————————————————————————————————————————— =5
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(») Abu Rayhan Lamarck

514. DNA is a material:
! (A) Homogenesis Homotype

|515. Guanine forms pair with?
() Thymine Adenine

11518. Gregor Mendel was a Priest in:
(») Australia America

@) Histone Fibrin

[521. In which one histone protein is present:
Chromosomes

---------------------------------------------------------

(A) Centrosome

L L TR L L LI P T T R P T T

1524. The biggest decompo f biosphere are:
_ Bacteria and fungi

(c) Darwin

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------

(©) Catbon

L e R o R Ty wlpg s ssnnnann

1520. The name of protein present in chromatin material is:

(©) Hemoglobix

NN S NN AN NI RN RN RN U N N IR N RN R R NN AN NI IR NN NI R IR RN R RN R SN N R SN NN SN NSRS

(©) Rose plant

R R P R R R R Ny SRR R R Ry L S R N L O L R R R R e ]

(©) Bacteria

=)

(®) Buffon

[N ) S S ) S (V) NSO O U S S (W) S [ [ SO [ D) S O O S (S O

T T T T T

|
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|1534. Which one ecologist developed the concept of ecological pyramids?
| (A) Darwin Lamarck (©) Charles Elton (o) Mendel

wastes are:

(») Competitors

1542, Which form of Nitrog
_ (® Nitrites

T e T T e T T T T e T

1547. Which type of symbiosis relationship is there in termite and protozoan?

(») predation parasitism mutualism (® commensalism

|548. All carnivore animals are:
Pathogen (c) Host (®) Parasite

549. Abiotic component of an ecosystem is:

(A) Consumer Decomposet

L R ]

© Water .. ® Consumers

1536. Which one is main producer in aquatic ecosystem:
| © Bacteria Fungi ©_Protozoans  [O] Phytoplankton _|:
537. The current level of urbanization in Pakistan is about:
As2% ... 2% ©.32% o ©22% o |
538. Which of the following is the abiotic component of the ecosystem? I
®© Carnivores  fOJ Oxygen © _Herbivores © Producers . :
1539. When we eat onions, our trophic level is:
Primary consumer Producer @ 3 . 5
| .©_Secondaryconsumer  © Decomposer— pakcity.org B-|
[540. In the food chain "grass —rabbit —fox— bear— J@&)m", how many types of
I decomposers are present? %
® 3 }

T e T T T T T T e = e S e T T T T T T N

R R N E e R T R e R N T e T R R e P R R N T P T N P T N T I

'o IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

~Page 30 of 41 Please visit for more data at: www.pakcity.org

=)

| NS ) S (V) SO [ ) S S (V) S S S S () S [ S [ ) S S S S (IS O [ o

I

) TS S S ST [ J S S S Sl ST S St { ) [l | S S o T S S S I S e | T

IS S S (T S S T S S ) () S T ol S )

I T T T T T

|




1551. The primary / basic source of energy for all Ecosystems is the:
(A) Environment Stars (©) Moon

|552. The basic Trophic Level of all food chains is:
(A) Consumers Reducers

@®) Producers (®) Decomposers

(®) 1926 1927 (©) 1925 (@) 1924

I554. Conversion of nitrates into nitrogen gas is called:

@) Denitrification Ammonification (©) Nitrogen fixation (® Assimilation

e L L L LT T TR TR LY

AN NN SR RN NI RN I NN NN E N RN I RN NN F R N NN AR E NN NI RS I NN NN IR NN IS E AN U NN AN AR AN

11555. More than normal denitrification change the richness of soil as: 0@ pakcity.org

(A) Finished less (©) Increase (®) Bad

556. Formation of nitrites and nitrates from Ammeonia is called:

() Ammonification Assimilation ®) Nitrification (®) Denitrification

1557. To convert nitrogen gas into nitrate is called:

() Ammonification Assimilation () Denitrifi

B NN RN RN S NN NI RN RN NI I N T IR A AR R R N AN AN N IR I NI S U NS R RN AN R SN NSRS A

I558. Itis perfect cycle in the sense that is returned to a @
' (®) oxygen cycle (8) water cycle %

T e T R Y

559. Example of Endoparasites is:
(A Leech Lices

560. Example of ectoparasite is:

1561. The type of symbiotic association in which one partner gets benefits while other is not
I benefited nor harmed is called:

_ Commensalism predation (©) Mutualism (®) Parasitism

(») Grass Rabbit (©) Phytoplankton (@ Alga

(A) parasitism commensalism [O®) mutualism (®) symbiosis

L e e R e

N R R A N e N R N R ]

T T R N T R e T e R T R T R R P N P T P PR PR NPT R Ty o

563. Type of symbiosis in which both partners are benefited and neither is harmed is called:
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1569. The interaction between the members of the sane species is called:
(») Mutualism (© Interspecific (® None of these

® 18km 19km
|571. R-3 means:
: (A) Refuse Less use

[572. The total amount of living matter in an ecosystem at any time is called:
(») Food web Food chain (© Energy ©)| Biomass

573. Mosquitoes, lice and leaches are examples of:
(») Endoparasite Obligate parasite (©) Both A & B

11578. The enrichment of nitrates and ph o@ates in water is called:

ipoesition  (© pollution

---------------------------------------------------------------------------------------

[579. In 1927 an English Ec
I (A) Darwin

T T T T T T T

|1581. Which product is formed during industrial nitrogen fixation?
@) Ammonia Carbon dioxide (©) Urea (®) Nitrite

11582. All Ecosystem of the world together form the

583. Which form of nitrogen is taken by the producers of the ecosystem?
(A Ammonia Nitrogen gas ©) Nitrates (® Nitrites

|I584. The consumers that eat animal flesh as well as plants and plant products are called:
(® Producers Omnivores (© Carnivores (© Herbivores

|585. Which is the product of industrial nitrogen fixation?
O} Ammonia Carbon dioxide (© Oxygen (© Urea

|586. Which one is the abiotic component of the ecosystem?
(A) Carnivores Air (©) Herbivores (®) Producers

e T P T PR NN R PR, ey T R S R R )

® Habitate _Community © Population  [@) Biosphere

R e s LR T L e R R R
L e e e e R PR R T
L e T P TR T T
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(®) Producers

(A) Producer

FE RN A NS R R RN AN AN A AN A NS AR NN N AR R N AR NN RS SRR AN NS ARAE N AN AN AN R AN R R R

1590. Which carnivores are called top carnivores:

Tertiary carnivores

© Secondary carnivores © Primary carnivores

11591. The abiotic component of an ecosystem is:

Herbivore

592. When we eat Goat Meat, our Trophic Level is:
(») Decomposer Primary Consumer - : 5
©_Secondary Carnivore . © _primary Carnivore__“pakeity.org g |
1593. The level of Urbanization in Pakistan was about ....... as per report of World Bank during |
1998 . I
©3% . elR% o ©0% ©27% :
594. The term R-4 means:
O Reforest ~ ~ ® Recyce . © Ruse ™ .. © Reduce . E
595. There are ...... types of dengue virus.
RONER > [ A - S— © 2
596. Dengue fever is an
(») Fungal (©) Bacterial

1597. The relationship between(sticker fish and shark is:

Parasitism (©) Mutualism ®) Commensalism

| k@A carnivore _Omnivore © _Decomposer  © Herbivore :
l602. Rabbit is: :
| .© Carniyore Herbivore © Producer © Secondary consumer |
603. How many types of ecological pyramids are?
®5 B els Q7 |
604. The base of food chain is always formed by:
® Foodweb O] Plant (producer) © Ecosystem © Animal o :

605. A network of food chains which are interconnected at various trophic levels is called:
e o)
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food web biomass
(© pyramid of numbers © pyramid of biomass

NN NN NN EEE RN EA NN ENE RN EEN NS EE NS NN RN ENE NN NN EEE RN NN EIE I EF NN EEN RSN N EEE NI AN NS EEN NN RN EN NN RN NS NI NN I N E NI NN SN I NN NN AR A GRS E IR NI N NN R NN ENEEEE NN RN AN IEEEN SN NN RN NN I NN EENS NN NSRS NN NN N EEE NN NN RN BN NN ENE NN NI EENENEEIENIEE NN EERRNTNEDE

|606. Smog forms a yellowish brown haze and hamper visibility during:

(A) spring autumn ©®) winter (©) summer

T T T R T T P T

1608. When Rabbit eats mustard plant, its trophic level will be:

(©) Salt and acid © Water and yogurt

R e e s e R R R R R ey

1611. The animal whose DNA has been changed is:
(») dihybrid monohybrid (© transformed

612. The human genome project was started in:

(») 1991 AD ®

616. In Scotland in 1977 what an embryologist lan Wilmut produced from the body cell of an
] adult sheep:
® Buffalo ® Cow . ..© Goat .
617. In the first step of glycolsis one molecule of glucose is broken down into two molecules of:
® Formicacid  ® Citricacid
618. The microorganism used in the production of Formic Acid is:
® Bacillus
619. Incomplete oxidation-reduction of
| Wlipids  ©fats ..© proteins
620. When did lan Wilmut produced the sheep Dolly?
: (») 2002 AD (© 1970 AD (©) 1987 AD

: 621. The main source of all types of Fermentation:
(A) Micro-organism Alleles © Genes

T T T T T T T T T T P NP Ry

O e ) e e e e e i e e ) i e i ey ) i e e i B e e e e e s e e e i ) e e e e i
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(») secondary consumers primary carnivores
KOl primary consumers ©_primary producers
1609. This product is used in the production of soaps:
KO) glycerol ® ethanol © acrylicacid @ Formicacid
l610. To preserve fruits vegetables and pickles we add:
Onion and garlic Flour and Salt
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1631. Which one is fermented food:

1632. This acid is used in electroplating:

A www.pakcity.org e

Class 10th :Biology Full Book MCQs s

1623. Painkiller chemical produced by brain is:

® Thymosin _Interferon © insulin  JOF Betaendorphin
1624, Fungi used in alcoholic fermentation is called:

(® zygomycetes algin

IO) saccharomyces cervisiae ® basidiomycetes

1625. In the process of Glycolysis, glucose molecule is broken down into two molecules of:

Ethanol (©) Ethanoland CO; (@) Lactic acid

N T

1626. Acrylic acid is used in the production of:

' Beverages (© Cosmetics (© Vinegar

L e R R R R e Ry ]

1627. Name of the yeast, used in fermentation is:

(») Lactobacillus Aspergillus

l628. The process in which there is incomplete-oxidation-reduction of glucose is called:

@) fermentation

(») DNA technology genetic engineering (©) biotechnology

ethanol (© acrylic acid (®) Formic acid

WA RS SN NSNS NS NN NN NN RSN NN RSN EE R RN R R R R N RN N R NSNS NN NSRS NN RN NN NSNS NN SR SRR EEEEEE

|630. Which organism is used in fermentation for the preparation ef.glycerol?

(® Aspergillus

(») Powdered milk Vitamins

® Glycerol @ EBthanoly n ~ © Acrylicacid
633. The microorganism used intheformation of Ethanol is:

® EColi ... &Bacllus © Virus .

1634. The product used in printing is:

| @ acrylicacid _ethanol [©] glycerol @ formicacid

11635. Vector DNA and Gene of interest, collectively called:

! Gene Recombinant Gene ; . ’
RecombinantDNA ©GMO. rakity.org P

(OF 2002 2008 © 2006 ® 2004

1639. The enzyme used to dissolve blood clots is called:

(») trypsin pepsin (©) amylase

|l640. The hormone which many prove effective against brain and lung cancer which is produced
] by genetically modified organism:
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® 1910 ©) 1977 © 1970 ® 1980

644. Interferons are ...... Proteins.
(») Antifungal ©) Antiviral (© Antidrugs (© Antibacterial

645. A hormone produced by genetically modified organisms used to cure cancer of brain and
lungs is:

(») insulin tnymosin Tyroxin (©) Anti-diuretic hormone Thymosin

|647. When does it become possible to cut DNA?
| ®1990AD 1890 AD © 1980 AD

N NN RS RN NS NN RN NN NN EE RN NN AN NN SN EN AN NN N NN NN NN BN NS RN E TSN RN NN RN NN AN NN NN RN NN RN RN AN RN NN NN E NN RN A PN EEE NN NN ARI NS NN NN NN EEENNEEERRNEEEAN

1650. The Enzyme used for joining Gene i@
. & (© Endonuclease  (® Lipase

653. The industrial product from aspergilus is:
(™) acrylic acid glycerol (© ethanol

1657. Find the correct match for the fermentation product and the organism involved:
(® Formic acid - Saccharomyces Glycerol - Aspergillus

LR L T e T T T T T

L R R R R R R R LR R o= T ey

smnn
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666. Sewage water is purified by the use of:

S www.pakcity.org - Class 10t :Biology Full Book MCQs s
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(© Pharmacology

e O T T mammmmw L T L T T T T

(») Morphology

1660. Who introduced the method of single cell protein?

(») Joseph Lister lan Wilmut

..........................................................................................................................................................................................................

(® Chemotherapy

s e T R

............................................................................................................................................................................................................... © virus
____________________________________________________________________________________________________________________________________________________________________________________________________ © Rabbit
665. Yogurt is made from milk fermentation by:
(») Bacillus Lactic acid bacteria (¢) Yeast (® Saccharomyces

(A) Minerals Microbes

AR AR AR IS A A N R N AR AN NN R A AN A N NN A N A RS AN AN N AR AN AR A IR RN AR A RN NN S AN RN AN IS EN AN E R A I RN RN SRR

e R R NN RN NN NN IR E AN I NN NN I AN N R RN AN E NN IR I E NN NN NN ENA NN EENEEE AN NN EERENERS I mEEWme R Hrn R E R AR NN N NN NI EE A N NN AN NN RN NN R RN RN RN NN NN NN NN I NN PN EE NN BN NN E RN NN NIRRT NAEENEEREEER

I L L L I N T T T O T T T T T T T T T T T T T T T T T T TR T T

R R R R R e e R R R L R R R A R R R S R R R R E R R R R e R R R R N R

(») 1976 ©) 1980 (©) 1978 (®) 1974

l671. Aspirin is categorized as:

A drug from plants A drug from minerals
© A drug from animals

N NN RN AR NN NN EE NN AN RN NN AN NN SN NN NN TR NN I AN NN NI NN BN N NN RN TA NI NN NI NI NI NN NN NN EE NN A EEE I AN SN NI AN EEA NN ISR EECN NN EN NN AEIEEA NI EEE NS EEARNEAARREEEAE
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|674. Which of the following drugs is obtained from plants?
| ©lsulin el opium © Cephalosporin___ ® Aspirin 5
|1675. What is true about vaccines?
(A) Protect against viral infections only.

Treat existing infection and also protect against future infections. i

(© Treat the existing bacterial infections only. [
©_Protect against the future viral and bacterial infections. . :
|676. Foxglove is a:
e =5
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(® Yellow flowered plant Black flowered plant
¥©) Purple floweredplant © _Orange floweredplant .
|1677. Which antibiotic is bactericidal?

cephalosporins thiazide (© sulpha drugs (©) tetracycline

e R e R

1678. Mescaline belongs to:
(») Sulpha drugs Vaccine (0) Antibiotics

AN AN AN IS AN NN NN NN SN NN N AN NN A S N A A RN RS AN NN TN NN N AN N S AN N NN A A S SIS NS NSNS NN I NN NN IR N NN NN R AR AR AR R N NN NN SN NN NI E NN N ARSI ISR EE RN E RN NI RN

L T N e T e

1|1681. The cardiotonic used to stimulate the heart is called:

(») analgesics paracetamol (©) aspirin

R Y R R R AN NI NN E N RN NI AN FNNASRIEER RN

-1; j iri (©) Morphine

11687. Streptomycin drugs obtdined from: pakcity.org
(») Plants Fungi (® Animals

w T ;
T T s e s ez e R R

688. Medicine Prepared in Laboratory are called:
(A) Minerals made Animals made (©) Plants made

B VS NS NS IR NN RS SR NN AN NN E NSNS I NN S NN N NS AN SN SN NN E NIV NN IS N SR PN S E NN BN N SN AN N NS SIS NI N SN NN NN NI VS NN RSN

11689. Which of these addictive drugs are also used as painkillers?

® Hallucinogens ® Sedatives © _Allcanbeused O} Narcotics ..
1690. Sulfonamides affect bacteria in the following way:
: (® Inhibit protein synthesis Stop the synthesis of new cell wall
N©) Stop the synthesis of folicacid © _Breakthecellwall . . :
1691. Medicines which induce sedation by reducing irritability and excitement are called:
| © antibiotics vaccines O] sedatives ® analgesics f
692. Antibiotics inhibit or kill the:
© Yeast oo Viruses © Worms .NGL. Bacteria . 5
693. Medicines which Kkill or stop the growth of bacteria are called:
) antibiotics  ® antibodies © _antinarcotics ~ (© analgesic |
® (© Antibiotics (© Analgesics
e e
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11695. Reduce the possibility of infection on skin:
i (») Digitalis Antiseptics (© Antibiotics (® Disinfectants

1696. Flemming discovered the:
Penicillin cephalosporin (©) Aspirin © Tetracycline

698. Penicillin was discovered by:
(») Robert Hook Lamarck

|702. Hallucinogens effect on the:

(® hypothalamus
[0] Sympathetic nervous system

e R R R R

iy

N

Drugs called:
(») Vaccines

705. The pain reliever morphine is obtained from the flowers of which plant?

(») foxglove (©) brassica

1707. Edward Jenner introduces vaccine of which disease?

() malaria hepatitis © aids smallpox

1709. Mescaline is obtained from a plant:
(») Morning Glory Cannabis (© Datura Cactus

11710. Is an Analgesic:
. (A) Aspirin

B N NN NSRS I IS N TN E R NI BN NN SN IR A AN U NS RN NS IR NI NN IR NN RN SRR I RSN A RN NN SR IS SN NN AN N I NI AR U NN RN N IR BRSNS NN NN PN NSNS I NN NN RE IR
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___________________________________________________________________ 8] hallucinogans @ sedatives @ vaccines |
1716, Which drug is obtained from bacteria?
| @ streptomycin _ ® Terramycin  © Paracetamol  ® Aspirin 5
717. Which drugs include aspirin:
I (® Drugs from plants Addictive drugs : X 5 |l
I©) Syntheticdrugs ©__Drugs from bacteria _ “% pakcity.org %" 5

: 718. Which of these is a Bactericidal Drug:
| ®pPsilocin JO) Cephalosporin ~© Mescaline © Morphin :
1719. An antibiotic is a drug that kills:
| o) Bacteria Fungi © Algae ® vViruses :
1720. ......... are the most frequently prescribed medications in m @ medicine:
|  ®enzymes O] antibiotics  © antigerss)- e © vaccines :
)NasalSpray ~~ ® Mouth :

................................................................................................... ® Sedatives |

d'into the body of a living organism and alter normal body
.................................................................................................................................................................................................... ©_Antitoxin f

724. Separate out painkiller drug:
| ©sSedatives _Antibiotics © Antiseptics  JO) Analgesics :
_________________________________________________________________________________________________________________________________________ ©_terramycin  © penicillin |

726. Tincture of iodine is obtained from:
® Animals Plants © Fungus :
|727. Psilosin belongs to:
| ®Vaccines JO) Hallucinogens ~© Sedatives ~~ © Antibiotics :
|728. This drug effects on the sympathetic nervous system causing dilation of pupils:
| ® Hallucinogens ~® Marijuana © Narcotics O, :
11729. Infections against which antibiotics are not effective are called:
| @) via _Bacterial © Fungal ©_Amoebic |
; 730. It effects on central nervous system and causes drowsiness:
® Codeine _Psilocin © Mescaline iG] Morphine :

:,r— &
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731. Antibiotics are used for the:

(®) Treatment of bacterial & viral infections Treatment of viral infections
[@] Treatment of bacterial infections (® Immunization against infections
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